Urban migration is a well non-phenomenon (write: well known phenomenon), (remove this
comma; do not put a comma before or after a preposition) with many metropolitan cities
becoming more and more crowded.

Remarks
You may write:
More and more people are moving / migrating to cities making them congested / crowded.

Amongst various problems (write: problems faced by urban residents), housing is one of the
most difficult to tackle for the local governments. To solve this, allocation of Parkland areas to
build residential places is proposed by many .

Remarks

To solve this many people / local authorities propose the allocation of parkland for residential
spaces.

| strongly oppose this and give my reasons for it, along with possible alternatives below.
Remarks

| strongly oppose this view. In the following paragraphs | give reasons for my opposition and
suggest alternatives.

Or

In the following paragraphs, | will defend my opinion with valid arguments and suggest
alternatives.

Parklands with their greenery, plants, children rides and pavements are quintessential need
(write: needs) of residents. Children of a locality come together and play different games in the
parks which definitely help (write: helps) them keep a (write: an) active lifestyle.

Remarks

Children of the neighborhood can come together and play different games in the parks and
thus lead an active lifestyle.

Similarly, people of elder age group take walks and whole discussion (write: older people /
seniors can go for a walk / can enjoy a stroll in the park and interact) with their peers in these
open areas.

Remarks



To ask someone to take a walk is to tell them to go away. You go for a walk or enjoy a walk in
the park.

Both these things enhance physical and mental health of the old generation.

Nevertheless, housing crisis is too evident (write: severe / serious) to be ignored, and viable
solutions should be planned and executed. One possible solution could be demolishing old and
dilapidated government buildings in the cities and rebuild (write: rebuilding) them as residential
complexes.

Remarks

One possible solution could be demolishing old buildings and rebuilding them as residential
buildings.

Connect ing forms to ing forms.

Or

One possible solution is to demolish old buildings and (to) rebuild them as residential spaces.
Connect infinitives to infinitives. The second to can be omitted.

Another option is to promote the building of multi-storey buildings by providing essential
subsidies and incentives.

To conclude, housing crisis is a huge problem that needs immediate action. However, it should
not come at the sacrifice (write: expense) of parklands, and options of revamping, old buildings
and building new multi-story types should be considered instead.

Remarks
This should be another sentence.

Instead, the government should repurpose old buildings and encourage the construction of
skyscrapers to tackle housing crisis.



